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!��
� ��EPM/OEPM  ������ �� ��������2 �� ��"
��� ����
� ��#�
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����� 
������ 
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������ �1  

 ����� ����	
� �
 ���������������� ����� �����   

�*+ ������ �� &������ ������ �'��	 ���	
 2 ������� ,�*- ����
�� ���
�� ����*� �/01� � �!��
�� ���� �*���� ��-���) ��
 �� ��*1� ���'��Di (foi) ������ �� 2 .(�(���-� ����% �� ��-� �!��
 ����  4
/� ,�*'�� ��5 6�+ ������ �0�� 7

 ������ �� �������� ������ �'��	 ���	
�3.  

 8��� ��-� �!��
 ���� �� ����*��� ��+�*
�� ������� ��*-� ����
� �������� �� ��9��� :9��� ������%��/��
 .  

 �� 6�%�
��0� ��� ������% ��� �!��
�� ����� ;�*�� �������� �'��	�� ���
�
 ��*-1� ;�5 ���
��� 4���-� 4<���% �!��
�� .  

 ���- ���
�D (fo)��� ��0 :  

D( fo)  =  10 log10 ( ))(/ fobB   +  K 

8��:  

b( fo):  ��� ������ ��� ��	*�� >�+ �0��
 ����	��� ������� ������� �!��
�� ������� ����(MHz)  

:B  ��-� ��0#
� �!��
�� ������� ������� ������ :9
�� ��	*�� >�+(MHz)  

K:  �����?� @���
�� �����.  
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 ������ �� &������ �'��	�� ���A 6�+ ������� ,�*- ���� �'��	 ���
 7���+ &�����3 ���'�� ���'� K�� �0�� ���� 7 ��B
� 
 ��
��#% ��� ���
�� C��!
� 4���
� �!��
�� �������� ����	��� ����#?� ������� 4���
) ������ �'��	 ���
 < 7D-���� ���3 

 ������� �����K &�#��� ���
 �$*0�� ���- −D(fo).(  

 ������A ������� ���'� ����
� ����*� ����� ��*-� K(� &�#��� ��A �� &�#��� �'��	� 7�� >�
���'��  K = 0 �5 ���'� �� 
 ��������.  

  

  

  

������� 2  

 ���� ��������	
�� ����� �������� �!��"��� 1� *3  

1  �����  

 �'��	� C�� ������ ��5 �� ������+ ����!�� 		! �� �
!��
�� �������
���� ��+��?�  (BSS) ���(�� &�+��� D� 
 �(�
!���� �� �!��
�)*'�� E(* �� 4
/� �� &� ��F�% 7&������� &�*'��.(  

 �B�*��� �'��	�� ;�$������� &��0���� �*� ������� ��*-� ����� ����*��� ����	�� ��������� ; ��	
 �� :�'�� ����
 ����9
�� 
 �(�
!��� �<���?� ��� �!��
�� �<�� :��'
� �����!�� 		!���
���� ��+��?� .  

2   �����	� 
��
����	�����	�
	  

 9������ ����	���� ��� ���� ���
 7G�$� ����
� ������ ��5 	���
 ��B����/H����:  

��������  7se:  �!H
�!��
�� ����� &���� ����� ���� ������� ��   

 7��0��
 �� ��0��
ag:   D��� �!H
�������������� �� �!��
�� ������� �������   

 7I��0�eq:  ,��
���� E(* 6�+ �!��
 ��� C��!
� ���
 6�+ �!��
� ���
  

����?� 7�ov:  ,��
�� ���B
 ���� 6�+ �!��
 ��� )&�+�� ( �	��5 ���� 6�+ �!��
�(dn)  

fo:  ���
�� C��!
=  ��� ��(�� ���90���� �����
����
���� ��
����   

C/I:  ����� ���� ���*/ �!��
(dB)  

PR:   ������� ���*(dB)  

EPM:  ����0��� ������� L��5 (dB) 

OEPM:   ����0��� ������� L��5����#�� (dB)  

                                                 
*  ��&� ��2 
�
���� %����$��� 
�+,� ����� �!� (� 
������ ;"< %
��
���
���� %>���>� (����"��� �!��� 30� 30A  �)��� (�

 -��
���� 
?��$� %����� 4�%������� (� ��$�� 41� �� 
�������� )@������ A�2 -����#� ���� 7�&���� 

����� %������ .(.  
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X:   ���*�� >�(!*�C/I ��(� ����#�����B
�� ���� 6�+ �!��
��  (dB)  

�/H��� ⊕:  ( )10/–10/–
1010

BA +A ⊕ B = –10 log  

�/H��� :  ( )10/–10/–
10–10

BA A  B = –10 log  

�/H��� ∑⊕:  ( )10/–10/2–10/1–

1

10...1010log10– nAAA
N

n

nA +++=⊕∑
=

  

3   ���� ��	�� �	�����	
��	�  

������� ����*+ :9�� 7�� M��!
 �� �!��
�� ���� ���� ��B�:  
N  ������� ������ ���*/�!��
�� ����0��� ���0��
��7 C/Ieq, ag7����
�� 6�+ �	��$�� ������� &�+���� ������ 6�+ 7  

C/Ieq, ag, up� C/Ieq, ag, dn�  
N   &�*'�� E(* �� ������?� ������� ��*)
�� E(* 6�+ ����� ( 7����	��� ������� ������ ��� ��PRov.  

 G*� 7O�� 6�% C�P�C����
 DP� :9�� � ����0��� ������� �#��$(EPM))  �Q�
��� �Q*�1 (� L��5 ����0��� �����������#�� 
(OEPM).  
 �������1 � 
)��&��� 
������ B��< 3��� > )EPM (
�
$�� 
�$ ��� 
������ ;"< ���� (�����"#� 
������� 
 3���C� 2.  

1.3   6��1� ���*��� ���
) ��������� ������ ��*/� �!��
� ���0��
������0��� (0����  ���
������	��$��� &�+����  6�+ 
"��� ��:  

( )∑
=

+⊕
m

i

iiupseiupageq foDICIC

1

,,,, )(/=/  

( )∑
=

+⊕
m

i

iidnseidnageq foDICIC

1

,,,, )(/=/  

8��:  

m:   ���� 6�+ �!��
�� ������� ������� ������� ��+���B
��  

n:  �	��$�� ������ 6�+ �!��
�� ������� ������� ������� ��+  

fo:   ��� ���
�� C��!
���90���� �����
�� ����	��� ������� ������ &���� ����� ������ ���- 7�!��
�� ����� 
����� �� ����� (MHz)  

D(fo):   ��(��(dB) ���
�� C��!
 ���A �� ������� ,�*'� ����*��� ���'�� ��� ) �� �*+ ��90�� ���-0 MHz (
 ���
�� C��!
 D� ,�*'�� ���-�MHz fo.  

���� �(� �!��
�� ������� ������� ������� ���-��� ����	��� ������� ������  7���-��� ���'�� ���
D ( fo) = –I( fo)  
���*+ (≡ I(∆f )) I( fo)  ��0 ������ ��3 >��
�����	! &�*- ����  �� ��	! ��A.  

� �B�*�� ����
 O������*� ��*-�R�!� ����0�
� � ��  �!��
�� ������� ������� ������� ����	��� ������� �����) ���� �!��

��-� ��0#
� ����� ���� G
/��� ��/��
 ��0#
� ����� .( ���
�� ��*-1� ;�5 ���
 ��Q
*�����S���*�� ������  ������ 1 :��'
� 

D(fo).  
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��� ;�5 E��� 6�+ �0��� ���* ���� 6��1� ���*�� �����������/�!��
��7������?� ����0��� ���0��
��  C/Iov, eq, ag 7 :��!
���
������������
�� :  

C/Iov, eq, ag  =  C/Ieq, ag, up  ⊕  C/Ieq, ag, dn 

2.3  ������� �*�/�� ��*���:�$�� )  �� ������� ���*7������?� PRov( ��������� ������� 	�*� ����	��� ���.  

 ����
�� 6�+ �	��$�� ������ 6�+ ������� ���*� ���B
�� ���� 6�+ ������� ���* ����
 7�*�/�� ��*��� ��5 6�% ���P% �0��
PRup �PRdn7 >��
���� &���9 X ������� ���* �� �*��� � 6�+���B
�� ���� �� �!��
�� &�+���� �	��$�� ����� ���
 

��
��*�� PRup �PRdn7 �
T�0:  

XPRPR ovdn +=  

dnovup PRPRPR =  

3.3  ��	
� EPMup �EPMdn �OEPM  

ovageqov PRICOEPM −=
,,

/  

upupagequp PRICEPM −=
,,

/  

dndnageqdn PRICEPM −=
,,

/  

  

  

������ �3  

����������	 �
��
  � ���	��������� ����
 ��� ���� ���	  
������	 ������	 ������	 ��  

1  �������� 	
  

 ���� ����	
��	 
��� ��� �� ��	
��� ������	 ������	 ������	 �����	 �� ������������ ��!�! �
"� #��$ �% 
&�����	 '����	 
��� ()���� ���� �!���	 ���*�� +�*�� ��)��� ��!�� . ����	 ���% �����	 �����αi  �,��$� +�*���	 	���

 (- ��/	�*%�����	 0 ≤ αi ≤ 1 )�	 �� ���%0 1�2 %100 .( ������	 4����	 �
)� 

���)���*��	 �%��( �Ri ��% �
 
�% +�*���	 #�$�dB 3��	
��� ������	 ������	 5��*6	 ��� �� �.  

7�����1�% ����$��	 ������	 5��*6	 (- 5�89��	 (����	 ��	
��	 ���� :  
;   

���	 7����∆f��	 5��*6	� ����$��	 5��*6	 ��� < ��	
��� ����  
;  <��,����	 +�*�� =/�"�  
;  ��	
��� ������	 5��*6	 ���� (��	 ����6	 5��� =/�"�.  
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 +�*���	 �� >�!�� ������?���� ���% &� &���� '��� 
��� ()���� ���� ��� �αw @�� (0 ≤ αw ≤ 1) #�$� ��%� 
 
�%dB 3

�� A �4����	 �
)� Rw����$��	 5��*B� �.  

�	 ������	(�����	 (��$�	 =��	 (- 5
�
� 5
��4 C��% 
���� ��	
��� ������	 5��*B� (��) . =�"��	 C���� D��	 ��	
��	�
 �������	 
�% ����	 �!�����	 '�,�∆f���� �C�	

���	 7���� 
�	4� &� ���E� 	� F�"� .  

 G� 1�2 �H������I	 ��������	 ��"��	 .��������% �������	 =�"��	 '���2  ����)�	 ��E��������	 �� (- ��	
��	 (- 
�����	 �
����B�.  

��$���	 5��,�	 =/�"� J�)� @��� (��/��	 (��$�	 =��� >�,-� (�����	 =��	 ���� �
)� . =- ��� ������	 �����	 �����
 �� (����K������� Ls� X:  

;   ���,�	Ls (��	 1�% 7���� 5�
,�	 (��% �����	 (- ��$���	 =/�"� (HPA) 1�%� 5��82 ���� )5�
� ��� (
�����	 . ���� 7�����Ls(���� =- ��� .  

;   ���,�	 �8��X �8� �	 F�*��?��� 
�%5�
,�	 (��% �����	  . &���� ���	� (E ��E���	 ���� ���� �� ������
�������	 ����$�	 =�"��	 . L���	 	�E�H���� 
�����	 +�*���	 
�� �2 @�� �
)� (��% �����	  �>����8 J�� 5�
,�	

5��,�� D4����	 

���� ������� �	

���	 7���� 
�	4� &� =����� C�2�.  

 �����)��	 �% ��)�Ls� X�����
��� .  

 �����)��	 �% ��)�Ri� Rw(�� ���  :Msymbol/s . ��	
��� ������	 5��*B�� ����$��	 5��*B� �����	 7�$�	 ���% 1$)��
 (�� ���MHz Rw(1 + αw)� Ri(1 + αi) MHz(�	���	 1�%  . �

���	 7���	 ���)� �% �M�)��∆f�  5
�����MHz .

 4���� ��,����	 +�*�� ?�� 
�% ��	
��	 �� ������ =/�"����!�!�	.  

 
�% ����$��	 5��*6	 5�
� 
���� ����*� ���4�	�� ��)���� ��,����	 ��
������2� ��	
��	 5�
�  (�N� (��$�	 =��	 ��
��/��	(���� (��$ =- �� ��� ( . ��	
��� ������	 5�
,�	 
���� (�O	 D����) 5�,��	 �H�	3�� ���  ��
�����	 7���)��	 
A��
�:(  

 � (   ��
�	 ����)�� �������	 '�,�	 �����	)Ri� Rw� αi� αw� δf� Ls� X ( ������	 5�
,�	 ������2 
���� F��� (��	
 ��	
���)�*6	 �� ����$��	 5��*6	 =��	 (- ��	
��� ������	 5��*6	 �� (��/��	 (��$�	 =��	 (- ��	
��� ������	 5�

(�����	 (��$�	(<  


(   
�
��� �)���	 ?	�4I	 
���)Un� Ln� 1 = n �... � 9(<  

?(   
���������6	 5�
,�� �����	 )Cm� 1 = m� ... �5(<  

 
(   ����,����	 �����	 5�
,�	 
���P:  

∑
=

−

=
5

1

1010

m

m

XL

CP

s

 

 ��	
��� ������	 5�
,�	 ���� 
����I(∆f) 
�% ���,��	 �� ������	 �����	 5�
� 1�2 ������� ���% ��)��	� ��,����	 +�*�� ?��
���� ��� �� ����$��	������  C/I D���� dB 0 ��)��� ��"� 1�% ) D�D���� ������	 5�
,�	� ����$��	 ������	 �����	 5�
� 

��	
���( �� ��� '��(�:  
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 ������1:  
��� �����$��	 5��*6	 5�
� P
w

 
�% �� '�� $�!� A�%� ���4�	���	 ���)���� ��,����	 +�*�� ?��
 ��
�	 ����)�(�� ���:  

 Ri = Rw,      αi = αw,      δf = 0,      Ls = 0,      X = 0  

 ������2:  '���2 
������ ������	 5��*6	 5�
� (- (��/��	 (��$�	 =��	  ���	
P0 
�% �� ���)���� ��,����	 +�*�� ?��
������	 '�,�	 ��
�	 ����)� ��$%P�� ���4�	���	 J��:  

 δf = ∆f,      Ls = 0,      X = 0  

 ������3:  
��� ���	
��� ������	 5��*6	 5�
� (- ��I	 (�����	 (��$�	 =��	 '���2 P1 '�,�	 ��
�	 ����)� ��$%P� �
������	:  

 δf = |∆f | – Ri,      Ls = L1 ≠ 0,      X ≠ 0  

 ���� 7����Ls�����	 5��*2 ����� >�,-�� 5�
,�	 (��% ������ ��$���	 =/�"��	 1�%  . ���� 7����X ��E�� =/�"� 1�% 
 
�����	 +�*���	 #�$� ?���
)�5�
,�	 (��% �����	 .  

 ������4:  
���6	 5�
� (- (��8�	 (�����	 (��$�	 =��	 '���2 ��	
��� ������	 5��*� P2 ��
�	 ����)� ��$%P� �'�,�	 
������	:  

 δf = |∆f | – 2Ri,      Ls = L2 ≠ L1 ≠ 0,      X ≠ 0  

 ���� 7���� ����8 ����� ��L
s 

 5�
,�	 (��% ������ ��$���	 =/�"��	 1�%������	 5��*2 ����� >�,-� . �����X ����� (E 
 5�$��	 (- 5
�	��	3.  

 ������5:  
��� ��	
��� ������	 ������	 5�
,�	 (���)� '�� #-�

���	 7����� ���)� 5��*2 :  

dBlog10)( 210









 ++=∆
w
P

PPP
fI  

2  ������� ��	
 ����� 
���  

 ��8��)($���%	(������	 (E ��	
��� ������	 5��*6	� ����$��	 5��*6	 ����)� �� ��8��	 ���� 1�% ����� �:  
���	�
 ��
�
 �
���:  

  �
)� 4����	 �Rw = 27,5 Msymbol/s  
   �����	 ���%αw = 0,35)  1�2 ���� '����	 
���
,� %35.(  

�����	� ����
 ��
�
 �
���:  
  ���	 �
)�� �4Ri = 27,5 Msymbol/s  
   �����	 ���%αi = 0,35)  1�2 ���� '����	 
���
,� %35.(  

������� ���� �����:  
   ���I	 (�����	 =��	 ����Ls1 = –17,0 dB  
   �(��8�	 (�����	 =��	 ����Ls2 = –27,5 dB  
��� ���
����
���� ���� 
��
�� :  
   �(�����	 =��	 ��E��Xf  = 12,0 dB  
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 ���	
��� ������	 5��*6	� ����$��	 5��*6	 ��� 

���	 7���� �� �����∆f �� �
�)MHz 38,36 .'�,�- � #��$�� (�� ��
5�,��	 (- �-�"���	 
����	 �,��$ 1#����	 	�E �� :  

 ������1:  
��� �����$��	 5��*6	 5�
� Pw 
�% ���Q�,����	 +�*�� ?��:  
 Ri = Rw,      αi = αw,      Ls = 0,      X = 0,      δf = 0 

 L1 = U8 = U9 = –8.937       

 U1 = L2 = U2 = L3 = U3 = L4 = U4 = L5 = U5 = L6 = L7 = L8 = L9 = 8.937 

 U6 = U7 = 18.563 

 C1 = 0.825,     C2 = 0,      C3 = 0,      C4 = 0.088,      C5 = 0 

 Pw = 0.913 

 ������2:  
��� ���	
��� ������	 5��*6	 5�
� P0 
�% (��/��	 (��$�	 =��	 �% ������	 ����,����	 +�*�� ?��:  
 Ls = 0,      X = 0,      δf = ∆f 

  L1 = L3 = L4 = 29.422,   U1 = L2 = L5 = L7 = 8.937,   L6 = L9 = 47.297,    L8 = –18.563 

 U9 = –8.937,     U2 = U5 = –29.422,     U3 = U4 = U6 = 18.563,     U7 = U8 = –19.797 

 C1 = 0,     C2 = 0,     C3 = 0,     C4 = 0,      C5 = 0 

 P0 = 0 

 ������3:  
������	
��� ������	 5��*6	 5�
�  P1 
�% ��I	 (�����	 (��$�	 =��	 �% ������	 ����,����	 +�*�� ?��:  
 Ls = Ls1,      X = Xf,      δf = |∆f | – Ri 

 L1 = 1.923,      U1 = L2 = L3 = L4 = L5 = L7 = 8.937,      U2 = U5 = L8 = –1.923 

 U3 = U4 = U6 = 18.563,      L6 = L9 = 19.797,      U7 = 7.703,      U8 = U9 = –8.937 

 C1 = 0.605,      C2 = 0,      C3 = 0,      C4 = 0,      C5 = 0 

 P1 = 7.618 × 10–4 

 ������4:  
��� ���	
��� ������	 5��*6	 5�
� P2 
�% (��8�	 (�����	 (��$�	 =��	 �% ������	 ����,����	 +�*�� ?��:  
 L

s
 = L

s2,      X = Xf,      δf = |∆f | – 2Ri 

  L1 = U8 = U9 = –8.937,   U1 = U3 = U4 = L9 = –7.703,    L2 = L3 = L4 = L5 = L6 = 8.937 

 U2 = U5 = U7 = 18.563,      L7 = L8 = 25.578,      U6 = 1.922 

 C1 = 0.395,      C2 = 0,      C3 = 0,      C4 = 0,      C5 = 0 

 P2 = 4.431 × 10–5 
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 ������5:  ��
�����$��	 5��*6	 5�
,� ������� �����	 ��	
��	 5�
� :  
 I(∆f ) = –30,5  

 ��*�	 (- 
�	��	 ������	 R��� 1�% ��"��	 ���� 

���	 7���� '�� �� ����� ��� �� �	�	��6	 A�E R������1.  

  

 ��*�	1  
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3  ��������� : ��������� ������ ���
 ����)��
������ ������� �� ������(  

1.3  ���	��  

2
)1(
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)1(
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)1(
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w

R
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R
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R
A α+=α−=α+=α−= 

L1 = max (–A; δf – C ) L4 = max (A; δf – C ) L7 = max (A; –δf + C ) 

U1 = min (A; δf + C ) U4 = min (B; δf + C ) U7 = min (B; –δf + D) 

L2 = max (–A – δf ; C ) L5 = max (A; –δf – C ) L8 = max (–B; –δf + C ) 

U2 = min (A – δf ; D) U5 = min (B; –δf + C ) U8 = min (–A; –δf + D) 

L3 = max (–A + δf ; C ) L6 = max (A; δf + C ) L9 = max (–B; δf + C ) 

U3 = min (A + δf ; D) U6 = min (B; δf + D) U9 = min (–A; δf + D) 

 �������1:  

 ����)a �b:(  ���� �	
� a� b  

��� �)a �b:(   

�� �	
�a� b  

δf  =  ������� ����	�� ��
��� ����������	�� ��
��� ���� .  
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2.3  
������  

 @��1 ≤ n ≤ 3:  
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� @��4 ≤ n ≤ 5:  
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4.3  
��
����� ������ 
����� ��	
��  

∑
− 5
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 =  ������ 

  

  

 ��������1  

 ��	
�
�3  

������� �	
���� �
�
���� �
������ ���
�  

��	�
��� ����
�� ��
� ��� ������ �� 3 ���� �������� ������� ��� ��!������ ���"���� ������� �"#�$ %��� &'$ �� 
����� &���( &�� ����)� ����"� �* +����� .������� �, ����"��� -/,	:  

0   ������ &��
��� 
�#)�	
�� ������ ���
��� ����
�� 2�* 3��)� ��
� ����
(5  
0   ������� �	���� &�"�(Msymbol/s)5  
0   6�
��� ��'�� &��*&�
 ��	�� ������ �7�#�� )89��
� �� 	$ ������ %�' 6�
�� ;��<� ( ��� &��"�� 6	����	0 

	15  
0  ������#�� ����	��� �#�=��	 &	>� ����#�'�� ��)<�� Ls1	 (dB) Ls25  
0   ��#�'�� ?<�� ��,	�(dB) X �* @��#�� �"� A�
���������� ���* ������ .  

 &��/��� �7��4 	������ AB�	� ��  &"<���2�	>� C�=�� ����"��� /�<#�� .�D� 2)	� �E�/ �* 3�7� &��� ?�!� ���F� �	�� 
 ��"�� ���� ����"��� ��B�� 2�( �����!>� �����"��� ���7G�%'	�� �9����� &��/��� 4	������ AB�	� �� .  

&����� ��
# ;�* &��� �
��9�� ��)	�� �� ������ �	��<���� �� ������� ��'	��� �H"� &I
�0 &I�
�	 %�'�����
&�����0%�'�����)��� ������ J��
G� �
��9�� ��)	�� �� K	 .�	��� �	�� �L	�H�� -/, &� �� 8#$ �������� �#��	� ����#�� 

 �, ����#�'�� ��)<�� �� ��B����dB 18−	 dB 30−���	��� 2�*  . 3��B�� A�
�� E�#, ��� ��� �E�/ �* 3�7�) &���( ��"�
M�!��( �#* M�!������� ���* ������ ����� 2�* &	����� )  &�#�� ����� %	�#D�� ��'	��� ���#��((TWTA) ���"��� �	�� X 

 L�! K�!$ ����0 . ���� �	�<��X�!N 2�( ��H# �� �������  .�$ 	���	������  dB 12 ������� X ���� 2#�$ �, �H<��� 
�,�	�'�� �$ �I�#�O��'  ��	#��� �/<#��� ����'�� ��H#>� �����)��%�
����� ����� .  

 ��$����� ��"�� �� 6�
�� �'	� �� ��*�)�� ��)	�"� ������ ���* ������ ������ �/, ���	 ;�<!�� &�"� ������ ���� P/�� 
 2�(��
#�� M��! ���#�'�� ?	)<�� ���	� �� ������ . �	�'�	����	��� dB 29−	 dB 39,5− 2�* ����#�'�� ��)<�� 

� ��"� ��$ �������� ��*�/�� ���!�� ��H#> ��/I��� ��)	&�����.  
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